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SERIE 5

Primera part
Exercici 1
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Exercici 2
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Segona part
OPCIO A
Exercici 3
-U
a) 3Upy —3legR-Ueg=0 = R =wb§‘|—'ed=loa7 Q
led

b) Eygra = (R(3I|ed)2 +3Ujq -I|ed)t = 3Up 3l ieqt =149,9 k= 4163 Wh
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C) 2Upat —3lieg2R-Ujeg=0 = ligg2 =
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d) Amb 3 bateries: tp, = -2t =12 h Amb 2 bateries: tp, = -8t 1488 h
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Exercici 4

a) ¢ =1 =0,2213 kg/h
Ch

My,
b) tb 27256,48 h

¢) Vi =My, /p=4,960 m® Vg =nd?h/4=0,03181 m°
ﬂ=M=1—ﬁ=o,9936=99,36%
Vini Vini ini
i ~_: P My Gy ty [h]
? mb_tbc_tbg = b P = 172,3 h
. 56,48 h I [
OPCIOB 1 2 5 PIkW]
Exercici 3
L
F
a) Fn_ | b) m:pacer%Lze=9,616 kg

<)
> M(0)=0 - %mg—LT:O — T=3144N

>F=0 - F,-mg=0 - F, =94,31N
R +T =0 - R, =-3144N

d) =1 -1164 MPa
S

Exercici 4

a) IDmotor = IImotor Pelect = Mmotor Ul=343,6 W

nS I motor I motor
n =— - I = = =1151INm
motor r motor 21 21 ns

- n -
60 motor  on .
b) Ps =70t Pelect = Mot U1 =136,6 W

P,
Iy =_>—=130,5Nm

—0nN
60 °

21 =120,9 kg
gd

c) Fszmg% = m=



